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Sl. No.1
QBID:1164001

Which of the following 1s a one-word substitute for ‘the study of sound and sound waves’

(1) Chronology
(3) Alchemy

(1) 1
(2) 2
3) 3
(4) 4

=1 9 & FF-m 9o gd= 3 27
(1) ko (2)
(3) | (4)
1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=15501]
2[Option ID=15502]
3[Option ID=15503]
4[Option ID=15504]

(2) Acousties

(4) Autistics

ia ]

Sl. No.2
QBID:1164002

Which of the following 1s a one-word substitute for ‘easily decerved'?

(1) Fallible
(3) Gullible

(1) 1
(2) 2
(3) 3
(4) 4

(2)  Permeable

{4) Phable




frferfia 5 @ =9 o fmeg § a9l o= =afFqaras 990 87
(1) e, 8=, g, ™ (2) =, ==, Ordi, g
(3)  Toreh, swfeam, wiEh g, tamEw (4) e, Hig, fa=a, o«

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15505]
2[Option ID=15506]

3[Option ID=15507]
4[Option ID=15508]

Sl. No.3
QBID:1164003

Choose the correct sentence.

(1) I go there briefly. (2) I go there little time.
(3) I go there very seldom. (4) I go there seldomly.

1 1
(2) 2
(3) 3
(4) 4

= 1 5 9Ig e F =5 i

(1)  wmeffam (2) AT
(3) TEE (49 =
(1) 1

2) 2

3) 3

(4) 4

1[Option ID=15509]
2[Option ID=15510]
3[Option ID=15511]
4[Option ID=15512]

Sl. No.4
QBID:1164004




Choose the most appropriate option to complete the sentence :

I wanted to borrow Mohan's umbrella. but he refuzed
(1) lending me. (2) lending it to me.

(3) to lend 1t to me. (4) tolend me.

1) 1
(2) 2
(3) 3
(4) 4

=1 1 9 g 9 F =991 i)

(1) =% o Fearl 1 e gl (2) =E gEi-9ET His == A
(3)  =EA IR A w A= T 2 (4) #TH F FEE R
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15513]
2[Option ID=15514]
3[Option ID=15515]
4[Option ID=15516]

SlI. No.5
QBID:1164005

Which of the following words will be the correct choice for the blank?

I told him ——— his face that he was a lhiar.
(1) to (2) on
(3) at (4) 1n
(1) 1
2) 2
(3) 3

(4) 4




=1 5 = =g e 1 g i

(1) 9= 3= o1 3R it e 8§ 7% 7 7 3%
(2) R FE H TEE A 2

(3) T FaTe fF e S w SR w5
(4) =3 o= T = 2

1) 1

(2) 2

3) 3
(4) 4

1[Option ID=15517]
2[Option ID=15518]
3[Option ID=15519]
4[Option ID=15520]

Sl. No.6
QBID:1164006

Given below are four sentences 1n jumbled order. Select the option that gives thelr correct
order.
{(A) The lid can be sealed on to the vessel by means of a rubber ring.

(B) It consists of a very strong vessel. made of aluminium alloy with a hid that fits tightly

on the top.
(C) At the centre of the Iid there 1s a vent or hole through which steam can escape.
(D) A pressure cooker 1s a vezsel in which food 1s cooked in steam under pressure.

Choose the correct answer from the options given below :

(1) (D). (A). (B). (C)
(2) (A). (D). (C). (B)
(3) (D). (B). (C). (A)
(4) (D). (C). (B). (A)
1) 1
(2) 2

(3) 3
(4) 4

e 5 ° om gfem w=g = =9 Fifsm)

(1) gz (2) a=T
(3)  ufmEeE (4) wideid

(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=15521]
2[Option ID=15522]
3[Option ID=15523]
4[Option ID=15524]

Sl. No.7
QBID:1164007

Choose the correct sentence.

(1) You're getting married. aren’t vou?
(2) Youre getting married. are you?
(3) You're getting married. won't you?
(4) You're getting married. will yvou?

(1) 1

(2) 2

3) 3

4) 4

AT H 2R AT GEEt & A 0 4 s -a o ud g e
(1) 3 s=Em & (2)
(3)  =Ea T B (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15525]
2[Option ID=15526]

3[Option ID=15527]
4[Option ID=15528]

g T HAl

wEEH & W 33E

Sl. No.8
QBID:1164008

Which of the following 1s a one-word substitute for ‘one who has no money™

(1) Bankrupt
(3 Orphan
(1) 1

(2) 2

3) 3

(4) 4

o

(2) Pauper

(4) Derelict




qi=l SferET o § gFT GErEd 1 o a4 g e

(1) e feen (2) wTE-g-=re B
(3) -3 HERA (1) =W = T
(1)
(2)

(3)
(4)

A W N =

1[Option ID=15529]
2[Option ID=15530]
3[Option ID=15531]
4[Option ID=15532]

Sl. No.9
QBID:1164009

In the sentence given below a part 1s italicised. Which choice as a replacement will improve
the sentence?

If the countries go after war. many people will die needlessly.

(1) go for war (2) pgotowar
(3) oo In war (4) go at war
1) 1
(2) 2
(3) 3
(4) 4
=t 1% & =t 11 %1 faem Fifsg
ERis! - 11
g, faetm
(A) s )
(B) =am (I) =74
(C) =4m (I1I) =11
(D) 3@ (IV) =m

Hr= fau o fomegl 4§ w39 w1 =999 St

(1) (A)-(I), (B)~(LLL), (C)-(IV), (D)~(II)
(2) (A)-(ITII), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(II), (B)-(T), (C)-(IV), (D)-(I1I)
(4) (A)-(IV), (B)-(ID). (C)-(D), (D)-(11I)

1) 1

(2) 2

3) 3

(4) 4




1[Option ID=15533]
2[Option ID=15534]
3[Option ID=15535]
4[Option ID=15536]

Sl. No.10
QBID:1164010

Which of the following 1s a one-word substitute for ‘one who enjoys food with pleasure?

(1) Gourmet (2) Gourmand
(3) Glutton (4) Omnivorous
(1) 1
(2) 2
(3) 3
(4) 4
gt 1 % @ =t 11 %1 faem fifag
-1 11
g, AT 15
(B) ufa (I) =m@a
0 ()
(D) 9=+ (IV) 39

Fi= fou 7o fawegi ® ® w6 390 1 994 St

(1) (A)-(D). (B)-(IV), (O)-(ID), (D)-(I1T)
(2)  (A)-IID, (B)-(), (C)-(IV), (D)-(IT)
(3)  (A)-(ID), (B)-(IIT), (C)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(D), (C)-(IID), (D)-(IT)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15537]
2[Option ID=15538]

3[Option ID=15539]
4[Option ID=15540]

Sl. No.11
QBID:1164011




Find out the correct meaning of the following idiom :

To burn vour bridges

(1) To burn down one’s house (2) To exhaust all the resources
(3) To make 1t impossible to go back (4) To leave a job

(1) 1

(2) 2

(3) 3

(4) 4
W&l 9d U7 o =9 % wEor Ml 9U1 39 95 {9 B % R0 99 =6 2| 98 i A1 gEE w5 27
(1) Tg1 o= (2) itz TH®
(3)  O°ET TEE (4)  FHYTT THH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15541]
2[Option ID=15542]
3[Option ID=15543]
4[Option ID=15544]

Sl. No.12
QBID:1164012

Choose the option which iz opposite in meaning to the following word :

Cognizance

(1) Tidiness (2) Ienorance
(3) Adulteration (4) Disheveled
1) 1

(2) 2

(3) 3

(4) 4




= 21 %o fju o # : uF wfiFea (Assertion (A) % ¥ # fafld 2 o g90 3894 FW01 (Reasons (R))

%Fﬂrﬁ

staFeE (A) T A1 A & FAV LA H A9 GRS HAE 2, Fatk 5 o e w5 oA

AHSAT AEF 2

#F (R) - o8 g2 ft 79 7 & W o3 w=@ I 2, I W =9 G fit Iewd T @ oW

AT Fad £

I 99 & AT °, J= 5 fawmeat 4 @ w6 3 & =59 fifan

(1)

(2)

(3)

(4)

(1)
(2)
(3)
(4)

A W N =

(A) 3 (R) 21 |9 & 31 (R), (A) 1 wél =are &
(A) 31 (R) 541 &7 £, & (R), (A) i =&t =amen 76 2
(A) ®cq &, wfeA (R) 393 &

(A) 38 2, &k (R) 99 2

1[Option ID=15545]
2[Option ID=15546]
3[Option ID=15547]
4[Option ID=15548]

Sl. No.13

QBID:1164013

Identify the correct indirect speech form of the sentence from the options given below:

Riddhi said. “Let it rain. I have to go™.

(1)
(2)
(3)
(4)

P W N =

Riddhi said that she did not care for the rain and she had to go.
Riddhi suggests that she does not care for the rain and she has to go.
Riddhi persisted that she did not care for the rain and she had to go.

Riddhi proposed that she did not care for the rain and she has to go.




= 21 wya few Mo §

FA1: T A AW % 9E TG A 36 @Y a9 F R g 58 % 919 YENE &l @, 39 &9
%1 FF Fed ol
w11 @ | fom, 9= 3i F1F * FA0 TR T8 @ 2

I FE & e |, 9 2 m fawedt 8 8 g6 3 % 999 fifu

(1) Fud [ AR [[ A1 59 &
(2) F99 1 3 [1 A7 5 7
(3) F99 | 9e9 2, oA e [ w7899 2

(4) F99 | 3Eea 8, oiiehd oA [[ 89c9 2

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=15549]
2[Option ID=15550]

3[Option ID=15551]
4[Option ID=15552]

Sl. No.14
QBID:1164014

Given below are two statements :

Statement I :  Fun can never take the indefinite article, but a definite article i1s quite
commaon.
Statement 11 :  Very. not much. 1s used before too.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Statement I 1s false but Statement II is true
(3 Statement I 1s true but Statement I 1s false

(4) Both Statement I and Statement II are falze

(1) 1
(2) 2




(3) 3
(4) 4

fa=i vz = & vl - FwHER FfafEa = # agEe 70 87

(A) g

(B) e

(C)  drEfaeht

(D) e

(E) =

= fou o et § @ @t I = == Fifdo

(1) (E). (A, (C). (B), (D)
2y (E), D), (©), (B), (A)
3y (E), (B), (D), (O), (A)
(4)  (E), (C), (B), (D), (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15553]
2[Option ID=15554]

3[Option ID=15555]
4[Option ID=15556]

Sl. No.15
QBID:1164015
Given below are two statements :

Statement 1 :  Abroad 1s never preceded by an article.

Statement II :  Also 1s used only 1n positive sentences.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are false

(2) Both Statement [ and Statement II are true
(3) Statement I 1s true but Statement IT i< false
(4) Statement I 1s false but Statement II 1s true

(1) 1

(2) 2

(3) 3




frafafiaa s =1 sfaa w9 4 =afem fif:

(A) w2
(B) Tammer ifea =
() #AFF i
(D) e A
(E) #=93
Fi= fau 7o faweal | & wd 39 = 999 fifdu -
(1) (A), (B), (O), (D), (E)
(2) (E), (C), (B). (D). (A)
(3) (B), (C), (D), (E). (A)
(4) (C), (D), (E), (&), (B)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15557]
2[Option ID=15558]
3[Option ID=15559]
4[Option ID=15560]

Sl. No.16

QBID:1164016

Choose the correct sentence:

(1)
(2)
(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

What I hated most were the insects evervwhere.
What I hated most was the insects everywhere.
What I hated most was the insect evervwhere.

What I hated most were the insect evervwhere.




7l 1% |4 7=t 11 o faew Fifoo

(A)
(B)
(C)
(D)

g1 il |
e M
o ) =
3% (III) =&
gafa (V) fa

= feu o fa=egl | 9 w8 390 =1 =494 it

(A)-(IV), (B)-(LII), (C)-(ID), (D)-(I)
(A)-(IID), (B)-(11). (C)-(D. (D)-(IV)
(A)-(D), (B)-(IID), (C)-(IV), (D)-(1I)
(A)-(ID), (B)-(D). (C)-(IV), (D)~(I1I)

1[Option ID=15561]
2[Option ID=15562]
3[Option ID=15563]
4[Option ID=15564]

Sl. No.17

QBID:1164017

Match List T with List IT :

(A)
(B)
(C)
(D)

B List IT

(word) (synonym)
Abhstinence (I) Weak
Infamous (IT) Disgraceful
Feeble (III) Exposed
Vulnerable (IV) Avoidance

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

1) 1
2) 2

(A)-(III). (B)-(I). (C)-(IV), (D)-(II)
(A)-(IL). (B)-(IV). (C)-(I1I). (D)-(I)

(A)-(IV). (B)-(IID). (C)-

(IT). (Dy-(I)

(A)-(IV). (B)-(II). (C)-(I). (D)-(IIL)




3) 3
(4) 4

Fraferfiaa =i sfaw waaEn =Efem Fif

(A)  =TE Fehee
(B)y =afF
(C) wE=4

(D) ¥ ge 4
(E) g =i g@m @

Ji= f2u Tu fawegl § @ HE 39 1 =994 it -
(1) (A), (B), (C), (D), (E)
(2) (B). (C), (D), (E). (A)
(3) (C), (D, (E), (A), (B)
(4) (C). (B), (D), (A), (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15565]
2[Option ID=15566]

3[Option ID=15567]
4[Option ID=15568]

Sl. No.18
QBID:1164018

Match List T with List IT :

List I List IT

{(word) (antonym)
(A) Bane (I) Calm
(B) Fray (I Approve
(C) Blame (ITT) Boon

(D) Ternfic (IV) Moderate

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(I). (C)-(II). (D)-(IV)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(IL)
(3) (A)-(I). (B)-(IV). (C)-(I). (D)-(IIL)
(4) (A)-(ITL). (B)-(IV). (C)-(I). (D)-(IT)




(1) 1
(2) 2
(3) 3
4) 4

Tt 13 & w=t 11 = faem $ifsg

1 gt-11
(A) THE O TF 9N FHRE I =fd=®
(B) IE § U IH W (IT) =THTER
(C) vge fA % o am wmifim  (I1) wifash
(D) =¥ § U FE T (IV) i

Hr= feu 7o fawegi § 9 wd 3 w1 =99 fif

(1) (A)-(ID), (B)-(IIT), (C)-(IV), (D)-(I)
(2) (A)-(D), (B)-(IL), (C)-(I11), (D)-(IV)
(3) (A)-(IID), (B)-(IV), (C)-(D), (D)-(1I)
(4) (A)-(IV), (B)-(D), (C)-(ID), (D)-(I1I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15569]
2[Option ID=15570]

3[Option ID=15571]
4[Option ID=15572]

Sl. No.19
QBID:1164019




Given below are four sentences 1n jumbled order. Select the option that gives thelr correct
order.

(A) I was hoping to find a photocopier shop.

(B) As I browsed. I felt the bookshop attendant’s eves on me.

(C) Some vears ago. on a whim. I walked into a small shopping complex on Church Street

in Bangalore.

(D) Instead. on the ground floor. I discovered a small second-hand bookshop.

Choose the correct answer from the options given below :

(1) (C). (B). (A). (D)
(2) (C). (A). (D). (B)
(3) (A). (D). (C). (B)
(4 (B).(C).(A). D)

(1) 1
(2) 2
3) 3
(4) 4

Tt 1% @ =t 11 =1 faem fifsg

=1 11
(A) fTmfigamadfisas () T
B FEwaRafmaes 1) W

(C) =& 9= 9 51 8 (IIT) srgerta
(D) = = A A 2 (IV) =vfreia
Hr= feu o fameai § | wE I #1999 i

(1) (A)-(D), (B)-(IL), (C)-~(III), (D)-(IV)
(2) (A)-(I1D), (B)-(IV), (C)-(1T), (D)-(I)
(3) (A)-(IV), (B)-(D), (C)-(IL), (D)-(11I)
(4) (A)-(ID), (B)-(ILT), (C)-(IV), (D)-(1)

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=15573]
2[Option ID=15574]
3[Option ID=15575]
4[Option ID=15576]

Sl. No.20
QBID:1164020

Choose the most appropriate option for completing the following paragraph :

The West has two fixed notions about India. One 1= that it 1s a romantic land. full of holy
men. maharajas. palaces and elephants : the other 1s of India as a land of horrors - a place of

intolerable poverty and squalor. hunger and disease ...

(1) How can one country have two such contradictory images?
(2) Who has the strength to face not God but - himself?

(3) Should we be serving an urgent need?

(4) Does not 1t amount to suppression. the suppression of a whole country?

(1) 1
(2) 2
(3) 3
4) 4

faemeh’ = wvay R 27
(1) FE (2) w@n

(3 T (4) ==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15577]
2[Option ID=15578]

3[Option ID=15579]
4[Option ID=15580]

Sl. No.21
QBID:1164021

From among the following. choose the antonvm of knowledge’
(1) Deceat (2) Ignorance

(3) Folly (4)  Stupidity

(1) 1




(2) 2
3) 3
4) 4

frafafiaa # 5 =1 @1 w=g fawmor 27

(1)  Sfaea (2) &=
(3) fa=m (4) A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15581]
2[Option ID=15582]

3[Option ID=15583]
4[Option ID=15584]

SlI. No.22
QBID:1164022

Read the following passage and answer four questions that follow :

No nation or culture i1s truly independent in terms of its intellectual lhife, and all depends to
some extent on an exchange of knowledge. The more “modern” a nation i1s 1n terms of
involvement with technology. industrialization and current political and social thought. the
more dependent it tends to be on an International network of creation and distribution of
knowledge. This international network operates In manyv ways. Books and journals are
circulated across international boundaries. films are exported from one country to another,
educational advice 1s given. experts circulate knowledge on a wide range of topics. students
travel beyvond their countries. and translations of publications from one language to another
are commissioned.

H=AARE T8 % ATIE W= 99l 3 A

AT T FFA F 99 % F9 G @1 o7 T 2| S TR FA AT 99 0 3t w0 o T 2| e
I GGT TR oA A HEAl, BT HGIT A OGEAT 2| TE wEO 2 6 g6 diE o0 R S ged | e
35 4 HHid 5 | 59 6 % GEd TH @S A Hhd © 1 G & S0 a5 9re | 9 s @A,
fi-ofiar ey v off 72 9vE = w2 T o9l FE F 99 = 2| o ot g, sAeed, T eiR
SEATeTFal % e 59 7Y 7| 58 A T E A A A6 AU A W aE FAE W U Fa 2, Afwera
e o 35 7 T A9 AT 2

The passage mainly proposes that all modern nations and cultures are :

(1) self-sufficient (2) technocratic
(3) knowledgeable (4) 1nterdependent
(1) 1

(2) 2

(3) 3

(4) 4




i s S HEE % e R wE w1 TR w0 £

(1) & = 98 " £ (2) A F FHH FA B

(3) FA = B (4) = FE F GE A H G A6 |
(1)
(2)

(3)
(4)

P W N R

1[Option ID=15585]
2[Option ID=15586]
3[Option ID=15587]
4[Option ID=15588]

Sl. No.23
QBID:1164023

Fead the following passage and answer four questions that follow :

No nation or culture 1= truly independent in terms of 1ts intellectual life. and all depends to
some extent on an exchange of knowledge. The more “modern” a nation is In terms of
involvement with technology. industrialization and current political and social thought. the
more dependent it tends to be on an international network of creation and distmbution of
knowledge. This international network operates in many ways. Books and journals are
circulated across international boundaries. films are exported from one country to another,
educational advice 1s given. experts circulate knowledge on a wide range of topics. students
travel beyond thelr countries. and translations of publications from one language to another
are commissioned.

ARAE 1 FEA F 99 = SEaT 37 5 2| S TR w9 § S 6 5 e 2| e
F GTET TE S S EwdT, A H fGE S wwar 2| TE wEe R T oad i | w6 e g oy
33 H WS AR A | TH 916 % GA THI @S A Hehd 7 R GHIE % 90 a5 9e J 6w A,
i e wrdey s i 7% 3" W w2 96 R 9 99 = 2| 3 W dan, SHEEn, g 31
SEATeRal F e 5 7Y 7| 5 AV T E A A2 A gU| o W aE "I {0 FHa 2, Afaea
F THE FAl 2 ¥S AR TR F TAT-THHAT 2, T B GG TEAH F 9 TEFA £ 7 SAGHT AR
e | 38 7 F A9 T A




The writer primarily links distrbution of modern knowledge to

(A) technology
(B) religion
(C) language
(D)  1industry

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (D) only
(4) (A) and (D) only

(1) 1
(2) 2
(3) 3
(4) 4

‘o W%’ = = WY 87

(1) i N S+ (2)
(3) g¥ ® = FEen (4)

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=15589]
2[Option ID=15590]

3[Option ID=15591]
4[Option ID=15592]

gH =1 9T F Tl

gH % Jecid § 24 e

Sl. No.24
QBID:1164024




Read the following passage and answer four questions that follow :

No nation or culture i1s truly independent in terms of its intellectual lhife, and all depends to
some extent on an exchange of knowledge. The more “modern” a nation 1s 1n terms of
involvement with technology. industrialization and current political and social thought. the
more dependent it tends to be on an International network of creation and distribution of
knowledge. This international network operates In many ways. Books and journals are
circulated across international boundaries. films are exported from one country to another,
educational advice 1s given. experts circulate knowledge on a wide range of topics. students
travel beyvond their countries. and translations of publications from one language to another
are commissioned.

R o > e K
SHTET T =0 HJATEE 9 =11 U7 AT =l 391 SiE0 |

A BG1 FHA B 99 % =Y H ST o T 2| 3 U w98 0 st 6 oI e 2| a9
FI G T GA T EEA, B HGIT A AT 2| TA FwE0 2 R ogd s o weE o Ifem | oy
33M | T A7 FAA| 9 &9 & GATA THW @i F B & 6 TH & FE1 a0 8 =e A o 2 @,
fi-ofiar ey o=@ off 72 oyE = T 2 T o9d FwE F 99 =19 2| o ot 5, e, 5= eiR
ATl % §ed 59 50 A | ° GF 1E9A T & S 52 A8 Ul AT Hf 9% B ¥ U w9l 2, Aiaens
Eiceliuk cieale s e oo il

The concluding clause of the passage 1s In

(1) Passive volce (2) Direct speech

(3) Active volce (4) Imperative form

(1) 1
(2) 2
(3) 3
(4) 4

Zal =1 g1 THar % o U g @ @R e
(1)  mdtEA (2) TTHR
(3) W-HTHFR (4) Tufeg=y

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15593]
2[Option ID=15594]

3[Option ID=15595]
4[Option ID=15596]

SI. No.25
QBID:1164025




Read the following passage and answer four questions that follow :

No nation or culture i1s truly independent in terms of its intellectual lhife, and all depends to
some extent on an exchange of knowledge. The more “modern” a nation 1s 1n terms of
involvement with technology. industrialization and current political and social thought. the
more dependent it tends to be on an International network of creation and distribution of
knowledge. This international network operates In many ways. Books and journals are
circulated across international boundaries. films are exported from one country to another,
educational advice 1s given. experts circulate knowledge on a wide range of topics. students
travel beyvond their countries. and translations of publications from one language to another
are commissioned.

R o > e K
SHTET T =0 HJATEE 9 =11 U7 AT =l 391 SiE0 |

A BG1 FHA B 99 % =Y H ST o T 2| 3 U w98 0 st 6 oI e 2| a9
FI G T GA T EEA, B HGIT A AT 2| TA FwE0 2 R ogd s o weE o Ifem | oy
33M | T A7 FAA| 9 &9 & GATA THW @i F B & 6 TH & FE1 a0 8 =e A o 2 @,
fi-ofiar ey o=@ off 72 oyE = T 2 T o9d FwE F 99 =19 2| o ot 5, e, 5= eiR
ATl % §ed 59 50 A | ° GF 1E9A T & S 52 A8 Ul AT Hf 9% B ¥ U w9l 2, Aiaens
Eiceliuk cieale s e oo il

Which of the following 1s a one-word substitute for ‘an inheritance from father™

(1) Patrimony (2) Alimony

(3) Acrimony (4) Simony

(1) 1
(2) 2
3) 3
(4) 4

‘i | FH | qod FA0 g 27
(1)  @ea i smeatioaear (2) o I
(3)  ifi= g=R (4) wTwe fea

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15597]
2[Option ID=15598]

3[Option ID=15599]
4[Option ID=15600]

Sl. No.26
QBID:1164026




Lok Sabha and Rajya Sabha are convened together for resolving a deadlock between them
under the chairmanship of

(1) The President (2) The Vice-President

(3) The Lok Sabha Speaker (4) The Chief Election Commissioner

1) 1
(2) 2
(3) 3
(4) 4
forelt foma w e &1 o7 = & Tou S w3 s @ i A9 o TReel sterean § g8 Sl 8

(1) =l (2) Iwrafd
(3) ik 5T eI (4) =T HAE HAF

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15601]
2[Option ID=15602]

3[Option ID=15603]
4[Option ID=15604]

Sl. No.27
QBID:1164027

Which High Court has the jurisdiction over the union territory of Andaman and Nicobar
Islands?

(1) Madras High Court (2) Karnataka High Court

(3) Kerala High Court {4) Calcutta High Court

(1) 1
(2) 2
(3) 3
(4) 4

M SN FEEm guaE T mida &7 e 3= ey & Ao &9 7 S E e
(1) "M 3= =T (2) FATeh I= =EEE
(3) a3 A (4) T 3= A
(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=15605]
2[Option ID=15606]




3[Option ID=15607]
4[Option ID=15608]

Sl. No.28
QBID:1164028

Which team has won the Uber cup 2022 by defeating the defending and 15 times Champion
China?

(1) India (2) Japan
(3 Thailand (4) South Korea
(1) 1
(2) 2
3) 3
(4) 4

fraferfiga & & & 4w 3 15 aw 6 oo w3 Ao <9 # s 39 F9 2022 e

(1) HEA (2) =9I
(3) s (4) =g =ifen
1) 1
(2) 2
3) 3
4) 4

1[Option ID=15609]
2[Option ID=15610]
3[Option ID=15611]
4[Option ID=15612]

Sl. No.29
QBID:1164029

Which of the following systems is followed by RBI for issuing currency?

(1) Proportionate system (2) Simple deposit system
(3) Minimum reserve system (4) Fixed fiduciary issue system
(1) 1
(2) 2
(3) 3
4) 4
az1 9 i #F o s ot g g Fefafas § 9 e ugf # oem o 20
(1) =i Tgf (2)  ETHET ST 9Eh
(3) =@ fod woet (4) e et Je gt
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=15613]
2[Option ID=15614]
3[Option ID=15615]
4[Option ID=15616]

Sl. No.30
QBID:1164030

Which of the following Asian countries has been facing violent protests by its citizens over
economic crigis recently?

(1) Bangladesh (2) Maldives

(3) Nepal (4) 5ri Lanka

(1) 1
(2) 2
(3) 3
4) 4

g1 71§ el uEEE 29 4 § Tad s g% % FH S8 A0 g BaE vevE R T
(1) = (2) wEEE
(3) (4) e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15617]
2[Option ID=15618]

3[Option ID=15619]
4[Option ID=15620]

Sl. No.31
QBID:1164031

Which of the following procedures of parliament has not been horrowed from any country and
has been evolved by parliament of India by itself?

(1) Quorum (2) Starred questions

(3) Zero hour (4) Question hour

(1) 1
(2) 2
(3) 3
4) 4

a8 #i Frafafis srafe 7 8 *F-6 fF o= 39 8 suw of & = 2 afes wa wdl 998 g
fermmferm <1 et 27

(1) =nH (2) difHd 994
(3) A & (4) HITTHTEA

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=15621]
2[Option ID=15622]

3[Option ID=15623]
4[Option ID=15624]

Sl. No.32
QBID:1164032

Recently, in a major shift in its trade policy, India has opened up its central government
procurement market to ————— under the Free Trade Agreement (FTA).

(1) Saudi Arabia (2) Thailand
(3) Canada (4) The United Arab Emirates

(1) 1
(2) 2
(3) 3
(4) 4

T & ARa 4 S R AT § uF e ofiEd w5 F5 WEE F AU e $ g SR
awEd (URT) & ea fes o wre fan 27

(1) @A o (2) drEivs
(3) TSI (4) TFF IE I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15625]
2[Option ID=15626]

3[Option ID=15627]
4[Option ID=15628]

Sl. No.33
QBID:1164033




Consider the following statements about the dance form of Kuchipudi :

(A) Kuchipudi is one of the eight classical styles of Indian dance.

(B) Kuchipudi derives its roots from the ancient Hindu-Sanskrit text of Natya Shastra
and is a dance-drama.

(C) Kuchipudi derives its name from a village in Tamilnadu.
(D) It is largely devoted to the Hindu God Shiva.
(E) The dance-drama has the components of Dharavu, Nritta, Nrityva and Natya

Choose the correct answer from the options given below :

(1) (A), (B) and (E) anly
(2) (A) and (D) only
(3) (B) and (C) only
(4) (A), (B) and (D) only

(1) 1
(2) 2
(3) 3
(4) 4

Flawdt & wad ¥ Frafafas w0 w = i .-

(A)  FrEgS e g i 8 e 9§ 6 o gl

(B)  Ffaudt Teawme F Wi fog wega we @ fwen # it 30 Tew 2
(C)  Ffagdt 7 afaerg = o 79 ¥ 5191 99 W R 2

(D) = = ar R feg g fim i wwita 2)

(E) 7 91z ® Fafafas 92 w6 € - 909, 39, I69, T2

A fou o famemt & © @6 3 1 == ifau
(1) %= (A), (B) 3t (E)

(2)  %ad (A) 3R (D)

(3) &« (B) 3 (C)

(4) %= (A), (B) #R (D)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=15629]
2[Option ID=15630]

3[Option ID=15631]
4[Option ID=15632]

Sl. No.34
QBID:1164034




Consider the following statements about gravitational waves,

(A)

(B)
(C)
(D)

Gravitational waves are formed when a star explodes in a supernova, when two stars
orbit each other and when two black holes merge.

They travel at the speed of light, squeeze and stretch anything in their path.
The concept of gravitational waves was given by [saac Newton.

The first gravitational wave was accidentally detected by LIGO in 2015,

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
4) 4

(D) only
(A) and (D) only
(A) and (C) only
(C) only

(A)

(B)
()
(D)

TeedTel @01 99 3099 F1 £ 9@ FRHl 91 GEAET § 9O B 2, 9 A 9% UF o &
TREAT 9 31 A9 7 30 31 S Bl A0E ¥ e 9 2

o TS A W N WG B AR A 9N H S T o 96 W gad 7 #A1 EiEe el od 2|
TECATRET T = GHFIT FEATYT THE - g2 J WAEd A
AN H FEATYH THeArRS 90 A a9 2015 = (LIGO) g =i TE|

= Tou U faeal 5 ° =9 I F 94 HiE

(1)
(2)
(3)
(4)
(1) 1
(2) 2

(3) 3
(4) 4

e (D)
Fae (A) 31 (D)
Fae (A) 31 (C)

a7 (C)

1[Option ID=15633]
2[Option ID=15634]
3[Option ID=15635]
4[Option ID=15636]

Sl. No.35

QBID:1164035




Arrange the following changes in the constitution through amends in the chronological order.

(A)
(B)
(C)
(D)

(E)

Made Sikkim a full-fledged state of Indian Union.
Integrated Puducherry in the Indian Union.
Included Sindhi as official language in the Eighth Schedule.

Accorded a special status to the union territory of Delhi by designating it as the
national capital area.

Integrated Goa, Daman, and Diu in the Indian Union.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

(C), (B), (E), (&), (D)
(E), (D), (A), (C), (B)
(E), (B), (C), (&), (D)
(D), (A), (B). (C), (E)

afaam # dfaum sl % Ao | 5 Frefafan gfEd & s § satea fif

(A)
(B)
(€)
(D)

(E)

fafFrn &1 wrda @9 & i 759 =1 2= &
gl T WRATE 9 7 T R
ot =i sl STaEE # iR 9 w9 § e R T

faeelt =1 offa oar &3 ¥ w1 sfvelcm w0 gy el & @9 oS & = T = wEm
fema T

T, 294 U4 31 %1 WAAE 899§ gEiae S T

Ji= fou mu famedt | & wE 39 = 999 St

(1)
(2)
(3)
(4)

1) 1
(2) 2
(3) 3
(4) 4

(C), (B), (E), (A), (D)
(E). (D), (A). (C). (B)
(E), (B), (C), (A), (D)
(D). (A), (B), (C). (E)

1[Option ID=15637]
2[Option ID=15638]
3[Option ID=15639]
4[Option ID=15640]

Sl. No.36

QBID:1164036




Arrange the following events in the making of [Indian constitution in chronological order.

(A) The constitution of India was adopted by the constituent assembly.
(B) Appointment of Dr. Rajendra Prasad as President of the assembly.

(C)  Adoption of objective Resolution presented by Pandit Jawaharlal Nehru by the
constituent assemhbly.

(D) Last meeting of the constituent assembly.

(E) The constituent assembly met for the first time.

Choose the correct answer from the options given below :

(1) (C), (B), (E), (A), (D)
(2)  (E), D), (A), (C), (B)
(3)  (E), (B), (C), (A), (D)
(4) (D) (A). (B). (C). (E)

1) 1
(2) 2
3) 3
(4) 4

afggm fmiv & Fafafias gemsi i FegEe § =afem fifbw

(A)  HWA 1 EEuE g T g s e

(B) dfE9™ 91 % seae & w9 ° . Toeg ¥Eg S gl

(C)  aAfFam @91 it 3R ¥ 9. Tt 8% gH TEA TS qEed & S|
(D)  Gfaam @ i =ifw S5

(E)  @faum @ it et 91 355

= Teu mu et | @ wE 39 =1 999 S

(1) (C), (B), (E), (A), (D)
(2)  (E), D), (A), (C). (B)
(3)  (E), (B), (C), (A), (D)
(4) (D), (A, (B), (C). (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15641]
2[Option ID=15642]

3[Option ID=15643]
4[Option ID=15644]

Sl. No.37
QBID:1164037




(Given below are two statements : One is labelled as Assertion A and the other i1z labelled as

Reason R.
Assertion (A):  Folk music is fast disappearing from the cultural tapestry in India.
Reasons (R) : Folk music is not supported by modern technologies and media.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

i(4) (A) 1s false but (R) is true

(1) 1
2) 2
3) 3
(4) 4

Fr=r 71 F9A fow w2 wF wfuFe (Assertion (A)) =4 ¥ fafgd 7 91 780 39F F0 (Reasons (R))

ATFL (A) YA % AEHOF 9992 § o T sed ool 9 {aeqe a1 = @ 2
F0 (R) : T 1 AT THATAT 37 Hifm I F=am 72 fHermn 2
I FF F A 5, A9 7 T e § 9 99 30T I 6 99 Fien

(1) (&) ¥R (R)=FT @& 2 31 (R), (A) 1 TF = 2

(2) (A ¥R (R) A =@ 7, | (R), (A) Fi o8 =wen 76 2
(3) (A= 2, =i (R) 981 T 2

4) (A =E T 2, o (R) 99l 2

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15645]
2[Option ID=15646]




3[Option ID=15647]
4[Option ID=15648]

Sl. No.38
QBID:1164038

Given below are two statements : One 12 labelled as Assertion A and the other i1s labelled as

Reaszon R.
Assertion (A) : The current generation of vouths does not read books.
Reaszons (R) : The vouths have adequate visual materal to watch and gain knowledge.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

(1)
(2)
(3)
(4)

A W N =

A= 51w f2u o € : o wifiEre (Assertion (A)) % 9 | %ﬁﬁ%m@ﬂ\?ﬂ%m {(Reasons (R))
%F‘Jﬁ

AtaF (A) TNl i TAEE - diE T TE e

F (R) - AN F T TH I FE F 0 W 3Ed # o wie gva-amndt 21

3T F9A F e ¥, 9= B o fawed § @ ae 3w I =9 i

(1) (A) 3R (R) 391 & € st (R), (A) i a1 =men @

(2)  (A) 3R (R) 7A @@ &, FfE (R), (A) Fi = =men 7@ 2

(3) (A= &, @ (R) 981 961 &

(4) (A= 7 &, 9 (R) 76 2

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=15649]
2[Option ID=15650]
3[Option ID=15651]
4[Option ID=15652]

Sl. No.39
QBID:1164039

Match List I with List IT ;

List 1 List 11
(A) Kalidasa (I) Chhatrapati Shivaji
(B) Bana Bhatta (Il) Vikramaditya
(C) Chandra Bardai (IIT) Harshavardhana
(D) Parmanand (IV) Prithviraj Chauhan

Choose the correct answer from the options given helow :
(1) (A)-(D), (B)-(IL), (C)~(ILI), (D)-(IV)

(2) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(I11), (C)-(11), (D)-(I)
)

(4 (A)-(III), (B)-(I), (C)-(IV), (D)-(IT)
1) 1
(2) 2
3) 3
(4) 4
H1-1 % = =1 gHt-11 faemm Hifsm

-1 -1
(A)  =FfeEE (I) =afa fEEm
(B) =M wege (I) ferefeea
(C) =5 =+ER (III) ¥
(D) (IV) geis =tem

Hr= fou o fawedi § 9 @ 39 @ =994 it

(1) (A)-(D), (B)-(ID), (C)~(I11), (D)-(IV)
(2) (A)-(ID), (B)-(IID), (C)-(IV), (D)-(1)
(3) (A)-(IV), (B)-(IID), (C)-(11), (D)-(I)
(4) (A)-(IID), (B)-(D), (C)-(AV), (D)-(11)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15653]
2[Option ID=15654]

3[Option ID=15655]
4[Option ID=15656]




Sl. No.40
QBID:1164040

Match List T with List IT :

List I Last IT
Dance form States of origin
(A) Sattriya (I Andhra Pradesh
(B) Mohiniyattam (I} West Bengal
(C) EKuchipudi (III) Assam

(D) Gauriya Nritya (IV) Kerala

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)
(2) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(3) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
(4) (A)-(III). (B)-(IV). (C)-(I}, (D)«(1II)

1) 1
(2) 2
(3) 3
4) 4
Hq1-1 % 51 1 g=-11 faem ifsw
s Ecim i
Teq-Fedl 35TH T
(A) =i () wFgwEn
(B) wifediazen (I) wfr=s ==
() FagE (I11) =rEw
(D) it 3= V) =

Hi= fau o fameai § & @ 39 % =994 it

(1) (A)-(IT), (B)-(D), (C)-(IV), (D)-(ILD)
(2) (A)-(IV). (B)-(L1I), (C)-(1I), (D)-(D)
(3) (A)-(D), (B)-(IL), (C)~(I1), (D)-(IV)
(4) (A)-(I11), (B)-(IV), (C)-(I), (D)-(11)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15657]
2[Option ID=15658]




3[Option ID=15659]
4[Option ID=15660]

Sl. No.41
QBID:1164041

Given below are two statements :

Statement I :  Tuberculosis 1s caused by viruses that most often affect the lungs.

Statement II :  TB s spread from person to person through the air.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement IT are incorrect.
(3) Statement I 1s correct but Statement IT is incorrect.
(4) Statement I 1s incorrect but Statement IT is correct.
(1) 1
(2) 2
(3) 3
(4) 4
Hr= aifemw & de | 31w fau o £ -

FYA1:  aufesE O Fee % W0 g 8 S SR W RES i gHIiEa e 2
FA 11 :  wfe® 9y =+ arem | <At @ =afw § Sem 2
ITRE %94 & e ¥, 49 B T feed § ¥ 9ed 3w I 9 Fife

(1) =97 I s 11361 =81 8
(2) a9 [ # [ ZH1 Tera
(3)  =wu 98 2, wife wee [ e 2

(4) Fue [ 75 &, ot &g 11598 8

(1) 1




(2) 2
(3) 3
4) 4
1[Option ID=15661]
2[Option ID=15662]

3[Option ID=15663]
4[Option ID=15664]

Sl. No.42
QBID:1164042

Given below are two statements :

Statement I :  Lighting 1s a very rapid and massive discharge of electricity in the
atmosphere.
Statement II : Inter Cloud or Intra Cloud (IC) hightming are invisible and harmful.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II 1s incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.
(1) 1
(2) 2
(3) 3

(4) 4




7 e fom o # -

FOTl: W YR UF AAH H gE ATSW | A a1 & A1 GdE wrem § s & 5= i e
E i

FaA 11: e fafim wreawi 9 f&fm e @ g@=nfa & )

ITRE F24 F A 4, 49 7 T e § F g9 3w I w99 Fif

(1) &= 1 3fR 11291 961 &
(2)  F79 [ AR [ 241 714 2
(3) F94 1 98t 2, & %99 1 7o 2

(1) F99 1 7Terd &, Al %o 118981 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15665]
2[Option ID=15666]

3[Option ID=15667]
4[Option ID=15668]

Sl. No.43
QBID:1164043

Who has been conferred with the prestigious Royval Gold medal 2022, the world's highest
honour 1n the field of architecture?

(1) Hafeez contractor

(2) Brinda Somaya

(3) Balakrichna Vithaldas Doshi

(4) Raj Rewal




argEReT & &3 § el =fEa g w9 aren fave w5 gars wee /uiafed 99w Tieg 9sa 2022
foa wem T man?

(1)  &hF Fgaa

(2) o

(3) = fggaem gt
(4) TEES

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15669]
2[Option ID=15670]

3[Option ID=15671]
4[Option ID=15672]

Sl. No.44
QBID:1164044

The festival commomerating Buddha's birth, enlightenment and death is called

(1) Vaisakh

(2) Buddha Jayanti
(3) Buddha Purnima
(1) Buddha Vaisakhi

(1)
(2)
(3)
(4)

A W N =

i~ T

oferETs ST ° Aqg & 59, g5ed — W AT g F TR0 T FH F1 SRR §AE7 A6 2

)

(1)  dvma
(20  gg-SE=i
(3)  Tg-gom
(4)  9g domE
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=15673]
2[Option ID=15674]
3[Option ID=15675]
4[Option ID=15676]

Sl. No.45
QBID:1164045




Identify the correct combination of the members of QUAD.

(A) India

(B) Vietnam
(C)  Japan
D) Australia
(E) USA

() South Korea

Choose the correct answer from the options given below :

(1) (A), (B), (C). (D) only
(2)  (A) (D), (E), (F) only
(3)  (A), (B), (E), (F) only
(4) (A (O), (D). (E) only

(1) 1
(2) 2
3) 3
(4) 4

FATE & TEEAT 1 Tl T TEAT)

(A) Wra

(B) Tamm

(C) e

(D)  smeferm

() 3w

(F)  zfao =i

= fou o fqel § & et I =1 =99 Fifdu

(1)  (A), B), (C), D)
2y (A, D), (E), (F)
3y (A). (B), (E), (F)
(4) (A, (C), (D), (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15677]
2[Option ID=15678]

3[Option ID=15679]
4[Option ID=15680]

Sl. No.46
QBID:1164046




Given below are two statements :

Statement I :  ALU is an important component of CPU that is used to perform various

arithmetic and logical operations in the computer system.

Statement 11 : Integer arithmetic refers to various arithmetic operations involving

integer operands only.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement [ is true but Statement 11 is false
(4) Statement [ is false but Statement I is true

(1) 1
(2) 2
(3) 3
(4) 4

e 3 o Rm e E

FoAl: @t g OF AR geF U ve 4 & Tomew wam sop faew ¥ e s @ s
T AR & e § R a2

w11 Uil ST Sheel [0 Bl ° AEE AT i SR | gatua g gl

I HIH F TS H, J9 6 v fGwedl § § g8 3 & 999 $iau

(1) FEIAIEAI a8
(2)  ®F 1R I EH 35 8
(3)  ®ua 19ea &, o %o 11 218e3 &

(1) FFlAEae o s laas

(1) 1
(2) 2
(3) 3
4) 4




1[Option ID=15681]
2[Option ID=15682]
3[Option ID=15683]
4[Option ID=15684]

Sl. No.47
QBID:1164047

Good quality video and higher resolution image are achieved through

(1) AVI (2) Quicktime
(3) MPEG (4) None of these

(1) 1
(2) 2
(3) 3
4) 4

3T UE AT Jifeat @ s GHe awen foe e + gm ww e o aw @

(1)  wtem (2) =z
(3 wdtg (4) T | HI5 T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15685]
2[Option ID=15686]

3[Option ID=15687]
4[Option ID=15688]

Sl. No.48
QBID:1164048

Match List I with List IT :
List I List II
(A) Open a document (Ih, CTRL+W
(By Close a document (IIy CTRL+ 0O
(C) Help (IIT) CTRL + F2
(D) Print preview IVy F1

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(II), (C)-(IV), (D)-(I1L)
(2) (A)-(IT), (B)-(T), (C)-(IV), (D)-(11T)
(3) (A)-(1I), (B)-(T), (C)-(III), (D)-(IV)
(4) (A)-(IV), (B)-(D), (C)-(1I), (D)-(I1T)

(1) 1
(2) 2
(3) 3
(4) 4




Het-1 |19 #1 g=-11 fem Fif

TT-1 -1

Eap] e T
(A) sepe®igaEnm () CTRL+W
(B) segiz®agwen (1) CTRL+O

(C) =9 (=) (III) CTRL + F2
(D) i fisyg (IV) F1
Fi= fou 7o faweal | & wd 39 = 999 fifdw

(1) (A)-(D), (B)-(ID), (C)-(IV), (D)-(ILI)
(2) (A)-(11), (B)-(D), (C)-(IV), (D)-(I1)
(3) (A)-(1I), (B)-(D, (C)-(I11), (D)-(IV)
(1) (A)-(IV), (B)-(D), (C)-(IL), (D)~(11T)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15689]
2[Option ID=15690]

3[Option ID=15691]
4[Option ID=15692]

Sl. No.49
QBID:1164049

Which keys are used to open the properties dialog hox for the selected file or folder?

(1) Alt + Enter (2) Shift + Enter
(3) Alt+P (4) Shift+P

1) 1
(2) 2
(3) 3
(4) 4

T T FEA A FIES F AEH SEAT T ® @ied * 0 fFE 72 # v e s 2

(1) Alt + Enter (2) Shift + Enter
(3) Alt+P (4) Shift+P

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15693]
2[Option ID=15694]




3[Option ID=15695]
4[Option ID=15696]

Sl. No.50
QBID:1164050

MICR stands for

(1) Metallic Ink Character Reader (2) Magnetic Ink Card Reader
(3) Magnetic Ink Character Recognition (4) Metallic Info Card Recognition

(1) 1
(2) 2
(3) 3
4) 4
MICR (w8 1% 4t 3I7) =1 94 2 -
(1)  #eferr 59 et = (2) #rifew 3 w =t
(3) Ao 3% Fig fwifrasm (4) wHfTF TR F1E fpifaeE
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15697]
2[Option ID=15698]

3[Option ID=15699]
4[Option ID=15700]

Sl. No.51
QBID:1164051

Identify the first computer virus

(1) Creeper (2) Tinba
(3) Crypto locker (4) Conficker

(1) 1
(2) 2
3) 3
(4) 4

He FeE T 1 fafwa fif
(1) W (2) fe=n
(3) = @t (4) wHFa

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15701]
2[Option ID=15702]




3[Option ID=15703]
4[Option ID=15704]

Sl. No.52
QBID:1164052

Find the odd one out (related to MS Word)

(1) Web Layout (2) Outline
(3) Slide View {4) Print Layout

(1) 1
(2) 2
(3) 3
(4) 4

TH UH 9€ ¥ Fatad faum = g
(1) Jad a3 (2) =AT3eETH
(3) wTmE= (1) fr= & smse

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15705]
2[Option ID=15706]

3[Option ID=15707]
4[Option ID=15708]

SI. No.53
QBID:1164053

Which one is not a Network Topologies?

(1) Ring (2) Bus
(3) Star (4) Umbrella

(1) 1
(2) 2
(3) 3
(4) 4

frafafan # & 2 @ Jeas wifeafa 7§ wive 74 27

(1 @ (2) ==
(3) N (4) el

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15709]
2[Option ID=15710]




3[Option ID=15711]
4[Option ID=15712]

Sl. No.54
QBID:1164054

Which software is used to create and manage database?

(1) MS Access (2) MS Excel
(3) Out look (4} One note

(1) 1
(2) 2
3) 3
4) 4
frferfiga § & #19 @1 givesw S2Eg | =991 va yay & fou 3w e s g e
(1) U5 T o (2) TUH UH TFESA
(3)  sAEIgH (4) =R
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=15713]
2[Option ID=15714]

3[Option ID=15715]
4[Option ID=15716]

Sl. No.55
QBID:1164055

Which technique is used to encrypt the data?

(1) Block chaining (2) Big data analvtics
(3) Cloud computing (4) AR/NVR

1) 1
(2) 2
(3) 3
(4) 4

BT % F2 T & 70 i =t wfaty wme 6 et 87
(1) =i ST (2) T s vfeafeas
(3)  F=3E FR (4) AR/VR

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15717]
2[Option ID=15718]




3[Option ID=15719]
4[Option ID=15720]

Sl. No.56
QBID:1164056

Let A and B be two clocks. Clock A loses 3 minute in a day and clock B gains 2 minutes per
day. If clock B is 10 minutes ahead of clock A then how many days will it take clock B to he 45
minutes ahead of clock A

(1) 3 days (2) 7Tdays

(3) 10 days (4) 9days

(1) 1
(2) 2
(3) 3
4) 4

HHT A 3R B 21 afzai #1 gt A v fRa | 3 faae die @ & @ik gt B wfafen 2 fime st = awg a9
21azudt B, gt A # 10 492 317 2 99 9t B =i gl A 4 45 T2 o 29 | foraan o e ?

(1) 3f@ (20 7fm
(3) 10f§F (4) 9f=

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15721]
2[Option ID=15722]

3[Option ID=15723]
4[Option ID=15724]

Sl. No.57
QBID:1164057

What is the remainder of 16!%% divided by 57

(1) 0 2 1
(3) 2 4y 3

(1) 1
(2) 2
(3) 3
(4) 4

afz 16123465 &1 5 § fwmfem e s & & Sives =01 &M ?

(1) 0 (2)
3 2 (4) 3
(1) 1

2) 2

3) 3




(4) 4

1[Option ID=15725]
2[Option ID=15726]
3[Option ID=15727]
4[Option ID=15728]

Sl. No.58
QBID:1164058

Ram's present age is one-third of the age of his father. 5 years ago, his age was one-fifth of his
father' age. What are the present ages of Ram and his father?

(1) 10 years and 31 vears (2) 12 years and 36 years

(3) 10 years and 30 years (4) 15 years and 45 years

(1) 1
(2) 2
(3) 3
(4) 4

T it FAaE g 35 T e | 1/3 (vw-TEE) 21 5 96 i, sueh ey 3ue fae it e 1S
21 T 3T 35 fian it ad9m g w0 87

(1) 10 99 3T 31 99 (2) 12 99 30 36 99
(3) 10 a9 #HT 30 T4 (4) 15 =9 3 45 99

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15729]
2[Option ID=15730]

3[Option ID=15731]
4[Option ID=15732]

Sl. No.59
QBID:1164059

What is the area of a right angle triangle whose base is 1/7 times of its height?
(1) x'/14 (20 x/14
(3 x*/14 @ 27

(1) 1

(2) 2

3) 3
(4) 4

38 TR B & aee e g fame smuw seeht S 17 Ton R 7

(1) x? /14 (2) x/14
(3) x2/14 @ 227
(1) 1

(2) 2




3) 3
(4) 4

1[Option ID=15733]
2[Option ID=15734]
3[Option ID=15735]
4[Option ID=15736]

Sl. No.60
QBID:1164060

If 0.25 : x: 5:3, then value of x 1s

(1) 0.013 (2) 0.015
() 0.150 (4) 0.130

(1) 1
(2) 2
(3) 3
(4) 4

af2 0.25 : x: 5:3, 99 x I 94 W

(1) 0.013 (2) 0015
(3) 0.160 (4) 0.130

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15737]
2[Option ID=15738]

3[Option ID=15739]
4[Option ID=15740]

Sl. No.61
QBID:1164061

Which one of the following forms a set?

1) {x : x 1s fine best cricket player of the world}
(2) {x : x 1s three best scientists of the world}
(3) {x : x 1s prime factors of 100}

(4) {x : x 1s ten best businessmen of the world}

(1) 1
(2) 2
3) 3
(4) 4




ferifea % & Fi9-a1 v Tq=3 T 87

(1) ix:xTaa % s gagss e faensl 2
(2)  {x:xfava % 99 vdds S )
(3)  fx:x 100 T F9=T THES g}

(4)  ix:xTava % 20 wdds savly 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15741]
2[Option ID=15742]

3[Option ID=15743]
4[Option ID=15744]

Sl. No.62
QBID:1164062

Let 2% and 5% be two successive discounts on shoes. What 1s the single discount equivalent
to these two successive discounts?

(1) 5.5% (2) 6%

(3) 6.9% (4) 7.2%
(1) 1
(2) 2

3) 3
(4) 4

a1 foReft S T 2% SR 5% 1 &1 HETTE g ST @ T 51 HATT 92 % SHded Thal g2 fhat &t ?

(1)  5.5% (2) 6%
(3) 6.9% (4) 7.2%
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15745]
2[Option ID=15746]
3[Option ID=15747]
4[Option ID=15748]

Sl. No.63
QBID:1164063




Two pipes P and @ alone can fill a tank 1n 30 minutes and 45 minutes respectively. A third
pipe R can empty filled tank in 20 minutes. First, pipes P and @ are together opened. then,
after 5 minutes pipe R 1s also opened. How many minutes are required to fill the tank
completely?

(1) 115 minutes (2) 125 minutes

(3) 135 minutes (4) 145 minutes

(1) 1
(2) 2
(3) 3
4) 4

71 a1gd wAE: P 3 @ Rt T 1 30 fime o 45 T ¥ ww @t §)| o el aee R g 2 = 20
fime o wreft #2 gt 21 TR UEY P 3 Q U Oy =ief I 2 i 0% 5 fime 9 ey R o g A
STt 81 2 T W H e e e e

() 115 fime (2 125 fime

(3) 135 e (4) 145 fe

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15749]
2[Option ID=15750]

3[Option ID=15751]
4[Option ID=15752]

Sl. No.64
QBID:1164064

A 15% stock yields 20%. What is the market value of the stock of the face value Rs. 100?

(1) Rs.
(3) Rs.

(2) BEs. 55

(4) BHs. 97

=] ] |
T =]

(1) 1
(2) 2
(3) 3
4) 4

TF 15% = T2 & 20% 1 Sia%e W a1 81 100 F90 3ifha qoa 91ct Wih & ami god 91 &0 7

(1) 57 BT (2) 55 %991
(3) 75 T (4) 97 Fq
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=15753]
2[Option ID=15754]
3[Option ID=15755]
4[Option ID=15756]

Sl. No.65
QBID:1164065

A cab travels at T0km/h from Prayagraj to Varanasi and at 90 km/h from Varanasi to

Prayagraj. What is the average speed of cab for entire journey?

(1) TH% km/h (2) 87% km/h

3 782 kmm (4) 80 km/
&

(1) 1
(2) 2
(3) 3
4) 4

13 e 70 Torft /e it we @ wErR @ awvEt @6 e 90 ot /ae i 9 @ aneEt @ wErs 6
AT FAAT 8| T AT F T S i SAEa S 491w

(1) 732 Temedt e (2) 87% feredt /e
(3) 783 fepadt e (4) 80 fordfi /==
5]
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15757]
2[Option ID=15758]
3[Option ID=15759]
4[Option ID=15760]

Sl. No.66
QBID:1164066

Ram is twice as efficient as Shyam. If both complete a work in 20 days then time taken by
each to complete the same work, individually is

(1) 30 davs and 60 days (2) 20 days and 40 days
(3) 10 days and 20 days (4) 5 days and 10 days
(1) 1
(2) 2
(3) 3

(4) 4




TH, YW o ZA1 F999 &1 37 g1 e Bt wE #6020 A § #d § @ S5 w1 6 s - e A
2F1 § 8 v e g e 7

(1) 30 f&7 s 60 A (2) 20 f&7 3w 40 &=

(3) 100 (4) 5T s 10 A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15761]
2[Option ID=15762]

3[Option ID=15763]
4[Option ID=15764]

SI. No.67
QBID:1164067

How much time will it take for an amount of Rs. 1,200 to yield Rs. 144 as simple interest at
the rate 3% per annum?

(1) 3 years (2) 4 years

(3) 4.5 years (4) b years

(1) 1
(2) 2
(3) 3
(4) 4

1200 %90 i RIS T 3 S1fde HIUE SF i g H 144 T WIH FA H Haa g9 mm ?

() 39 (2) 44

(3) 45T (4) s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15765]
2[Option ID=15766]

3[Option ID=15767]
4[Option ID=15768]

Sl. No.68
QBID:1164068

Ram and Shyam invest in a business in the ratio 1:3. After donation of 10% of the total profit.
Ram's share 1s Rs. 900. What was the total profit?

(1) Rs. 6.050 (2) Rs. 4.000
(3) Rs. 3.500 (4) Rs. 1.000

(1) 1




(2) 2
3) 3
4) 4

W 3 v 4 R =EEE § 13 % e | fEw R e e 9 W 10% 29 3 F 9 T o
fewmn
900 F9T | FYUT @ T a1

(1) 6,050 ¥q7 (2) 4,000 %97
(3) 3,500 ¥4 (4) 1,000 &9T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15769]
2[Option ID=15770]

3[Option ID=15771]
4[Option ID=15772]

Sl. No.69
QBID:1164069

A 200 m long train, with a speed of 90 km/h, crosses a 180 m long train, which is moving with
speed of 100 km/h in opposite direction. How much time, they will take to cross each other?
(1) 2.1 sec (2) 1.2 sec

(3) 2.7 sec (4) 7.2 sec

(1) 1
(2) 2
(3) 3
4) 4

00 T /a2l =i == aredi 200 Hier =i 249, 100 i /g2 i = g faudia foen 9 niasier 180 Hie ==
29 I U FA 2| TH-TH F UK FA T J 9§ THaAT TEg o ?

(1) 2.14%% (2) 1253
(3) 2.749%% (4) 7.24%s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15773]
2[Option ID=15774]

3[Option ID=15775]
4[Option ID=15776]

Sl. No.70
QBID:1164070




— -
22 =
g
= _I_w.._l
=1 2
—
= ba
—
=u]

& &

-~
W
N
A W N =

H
|
e
s | =
]
|
4]
o

(1) 2.0 2) 1.6
(3)

[
=]
—
ffoy
—
=)
b |

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15777]
2[Option ID=15778]
3[Option ID=15779]
4[Option ID=15780]

Sl. No.71
QBID:1164071

What should be the ratio of milk and water, which yields a gain of 15% by selling it at cost
price?

(1) 10:56 (Z) 2056

(3) 20:3 (4 10:3

(1)
(2)
(3)
(4)

A W N =

afs | qea W I8 A F 15% & o9 # 3iz 26 2 a2 o ol @ s Fn g e ?

(1) 10:5 (2) 206
(3) 20:3 4y 10:3
(1)
(2)
(3)
(4)

A W N =

1[Option ID=15781]
2[Option ID=15782]
3[Option ID=15783]
4[Option ID=15784]




Sl. No.72
QBID:1164072

What 1s the weight of a mght circular cone of height 14 em and base radius 7 ecm? The
material used for cone weight 6 g/em?.

(1) 431 kg (2) 4.41kg

(3) 481ke 4) 4.91kg

(1) 1

(2) 2

(3) 3

4) 4

14 ¥ S 3 7 0. amaR Bren A o A gerER 9% B A9 e B e 6 L /a

T T 74 TR § S T

(1)  4.31 f=m. (2)  4.41 T,
(3)  4.81 =, (4) 4.91 fFar.
(1)
(2)

(3)
(4)

A W N =

1[Option ID=15785]
2[Option ID=15786]
3[Option ID=15787]
4[Option ID=15788]

Sl. No.73
QBID:1164073

The LCM of two numbers is 28 and their product is 112 then what is the HCF?

(1) 3 (2) 4
(3) (4y 10

=1

1) 1
(2) 2
3) 3
(4) 4

71 e ® FgrE gETIE 28 B S 39 UEHE 112 8 T4 A9 HecaH GHIIEds ol &7

(1) 3 (2) 4
(3) ik (4) 10

(1)
(2)
(3)
(4)

A W N =




1[Option ID=15789]
2[Option ID=15790]
3[Option ID=15791]
4[Option ID=15792]

Sl. No.74
QBID:1164074

If &, 8 and y denote the principal, rate of interest per annum and time respectively. What is

the amount if interest is compounded half yearly?

(1) rzf(l - i]
%

200
ﬂ w Rir
3 14—
©) y[ +200J
(1) 1
(2) 2
3) 3
(4) 4

[ B3

2 1+—
@) ﬁL +EDDJ
" 28

(4) a[l+2'm]

M @ f ANy AN o fdad s g s wwm w1 FfEe s 21 9w aqofn = oeeft, 9l s

et ®9 § TFdfg 201 & e T w|
(1) ﬂ{{'l + i]_
200
i 2
) F[“znn]
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15793]
2[Option ID=15794]
3[Option ID=15795]
4[Option ID=15796]

foomife T
2 Lt
@ ﬁL +200_J
28
¥
(4) a[l+ﬁj

Sl. No.75
QBID:1164075

If 4 men can do a work in 8 days while 10 women can do it in 10 days. In how many days can
6 men and 5 women complete the same work?

(1) 5.5 days
(3) 9 days

(1) 1
(2) 2
(3) 3
4) 4

(2) 6days
(4) 2days




4 sredt Torelt sl =i 8 Todi | @ weRd & Wl 361 M@ &1 10 Afgend, 10 AT § 9 gt 81 6 HAEHT it
5 wfgemt se @ i e 24 4 g F0f 7

1 ssfa (2) 6f@
(3) oA 4y 2%m

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15797]
2[Option ID=15798]

3[Option ID=15799]
4[Option ID=15800]

Sl. No.76
QBID:1164076

What is the area of a square, which is circumscribed by a circle of radius 5 unit?

(1) 50.5 sq. unit (2) 25 sqg. unit

(3) 50 sqg. unit (4) 100 sq. unit

(1) 1
(2) 2
3) 3
(4) 4

36 T H &R A #m A S 3 B % v 3w | o gen A

(1) 50.5 3 3% (2) 2591 =08
(3) 5097 e (4) 1001 g

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15801]
2[Option ID=15802]

3[Option ID=15803]
4[Option ID=15804]

Sl. No.77
QBID:1164077

A sum of money is to be distributed among 4 persons in the proportionof 3: 3: 2: 5. If second
person gets Rs. 500 more than third person then what is the share of fourth person?

(1) Rs. 500 (2) Rs. 1.500
(3) Rs. 2,500 (4) Rs. 3,500
1) 1

(2) 2




3) 3
(4) 4

FT AW 3:3:2:5F AW § =W A= F == w2 A 2| TG gE Afad dE SafEd F ST9a 500
T AR T 7 A1 =1 At B R e e ¢

(1) 500 571 (2)  1.500 ¥

(3) 2.500 =94 (4)  3.500 ¥

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=15805]
2[Option ID=15806]

3[Option ID=15807]
4[Option ID=15808]

Sl. No.78
QBID:1164078

If output of 2 men is equal to that of 4 women who can complete a task in 10 days working
together. How much time would 3 men and 3 women together take a complete the same task?

4 1
1 5— days 2 4— day
(1) }FJ ays (2) 3 ays
(3) Tl days i(4) --1i davs
b 9
(1) 1
(2) 2
(3) 3
(4) 4

afz et =6 *r 4 wfea faes 10 91 & @ o= ot € 91 fF 2 g & @ (Fefw) & e 21
FE 1 FA H 3 THT 3R 3 "iEe vw e fiee w9 e e et

4 1
1 5— f&m 2) 4-f&
SO @ 4
@ 7~ fm @ 42w
b 9
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15809]
2[Option ID=15810]
3[Option ID=15811]
4[Option ID=15812]

Sl. No.79




QBID:1164079

Two partners P and () invest in a company in the ratio of 2 : 1. If @’s share in the total profit
is Rs. 1,500 then what was the total profit?

(1) Rs. 4,000 (2) Rs. 4,500

(3) Rs. 5,500 (4) Rs. 5,550

(1)
(2)
(3)
(4)

A W N =

1 arsEr P et Q fordft et d 2:1 % s § fEw = €, afz 5@ e d Q = fawmn 1500 B @ Fa
& TR @1 g e

(1) 4,000 Tqu (2) 4,500 %07
(3) 5,500 #917 (4) 5.550 %7

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15813]

2[Option ID=15814]

3[Option ID=15815]
4[Option ID=15816]

Sl. No.80
QBID:1164080

The loss after selling a commodity for Rs. 225 is same as the profit after selling it for Hs. 415.
What is the cost of the commodity?

(1) Rs. 230 {(2) Rs 203
() Rs. 320 {4) Rs. 200

(1) 1
(2) 2
(3) 3
(4) 4

forelt a%g &1 225 TI0 F a4 & W% 7% # el %G F 415 T A 394 F 9% TH g2 A F a0H gl
T i AE T E?

(1)  230%7 (2) 203%

(3)  320%W (4) 200%

(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=15817]




2[Option ID=15818]
3[Option ID=15819]
4[Option ID=15820]

Sl. No.81
QBID:1164081

The question given below consists of a statement, followed by three arguments numbered I, 11
and ITI. You have to decide which of the arguments is a strong argument and which is a weak
argument.

Statement : Should India make efforts to promote cottage industries?

Arguments :

E; Yes, it will address the rural unemployment in India to some extent.

II. Yes, it will address the problem of excess migration to cities.

II1. Mo, the population of India is so large that the supply can hardly meet the demand.
Choose the most appropriate answer from the options given below :

(1) Only argument [ is strong

(2) Only argument II is strong

(3) Both arguments I and II are strong

i(4) All arguments I, IT and III are strong




4 feu v yv= A v G © 3R 39 95 JiF a9 L 11 3 101 fou o 2| 39l 98 FolE &40 & 15 aml
T H FH UF TN 0 & 3 FH U goel ah 7 7

T T WA I FOR AR I AIcAEd F F TG B =)

o
I.  Fl, T8 4R # g SO B B9 55 O B HOT|

II. =1, 9% 9= 1 317 &F 919 3719 9@ i 995 F 5 H0|

II1. &, ¥ $i SFEE 5o 951 2 % 3 = o 977 %t 90 F60 957 5o 2
oo o faeat § @ T I9gT I 1 99 HiAw

(1)  =ad a6 [ 89 2

(2)  hae @ [ @9 7

(3) o, I @R I 99 71
(4) = 7, L. II =3k 111 99 2|

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15821]
2[Option ID=15822]

3[Option ID=15823]
4[Option ID=15824]

SlI. No.82
QBID:1164082




The question given below consists of a statement, followed by three arguments numhbered I, 11
and I1I. You have to decide which of the arguments is a strong argument and which is a weak
argument.

Statement : Should a famous actor be entitled to right to privacy in personal matters?

Arguments :

L Yes, in personal matters, a famous actor has an equal right to privacy as any other
member of society.

II. No, when a person voluntarily chooses a profession which puts him in limelight, he
should not complain about lack of privacy.

ITI. No, loss of privacy is a fair price to pay for the fame and money that a famous actor gets,
Chooze the most appropriate answer from the options given below :

(1) Only argument [ is strong

(2) Only argument II is strong

(3) Both arguments I and II are strong

(4) All arguments [, IT and III are strong

(1) 1
(2) 2
(3) 3
4) 4

fafrmumdmarg e s ms ae daah L[ 8 s s Fos s 2 e el 0 &
7 @1 7 g9 & 3N FH ' Ak gae 27

qhe - 1 =afeema we | et wftzg sfisan =t free =1 st & =nfzu?

o -

. =, =afwm amet #@, fedt gfag sfisa =, oo & fef 3= e 6 7@ fea =1 a9
Higwn 21

II. =@, 5 #15 =afaq @0 vt =2auE 990 @ @ 38 ae-ufag § @ g @ 3@ fom i w6 %
ant o ferrra 98 = =ifEm)

1. =, fdt wfeg sfiven =1 fiem aret 99 3 wfafz % fon o 6 =1f o= 3fee g 2
H= feu mu fasmedi & @ waifys Iuge I #1594 Sif -

(1)  aet @6 [ 59 21
(2)  hael g 11 990 2
(3)  EF1 e, [ 3 11 g9 2
(4) @t ek, 1, 11 3 11 g9 )
1) 1
(2) 2

3) 3
(4) 4

1[Option ID=15825]
2[Option ID=15826]




3[Option ID=15827]
4[Option ID=15828]

Sl. No.83
QBID:1164083

In the following question, two statements numbered I and II are given :

I The birth rate in the district has been decreasing for the last five years.

il The district administration has conducted extensive door to door family planning

campaigns among the uneducated poor.

Choose the mosi appropriate answer from the options given below :

(1) Statement [ is the cause and statement IT is its effect
(2) Statement [T is the cause and statement [ is its effect
(3 Both the statements [ and II are independent causes

(4) Both the statements [ and II effects of independent causes

(1)
(2)
(3)
(4)

fr=ferfiaa woa 4, & awea 1 3R 11 fou mo &)

I froa o9 avt @ et § - we @1 @ B

1. wforfem niei & e faen wemes 3 s @ W -t e afEn-fesm sifiem s« 21
fr fou o fashedt # & waifus v w0 w1 297 A

(1)  ovhea 1 W & 3iR awhed 11 361 99 2

(2)  ohed [1 %W 8 31 awed 1 301 79 2

(3)  oFi awea, 1 3R 11, =03 SR 3|

(4) 2 awe, 1 3R 11, @03 a5 99 81

A W N =

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15829]
2[Option ID=15830]
3[Option ID=15831]
4[Option ID=15832]

Sl. No.84
QBID:1164084




In the following question. two statements numbered I and IT are given :

L. Spherical shape has the least possible surface area and highest surface tension.
II. Raindrop has a spherical shape.

Choose the most appropriate answer from the options given below :

(1) Statement I 12 the cause and statement IT 1s its effect
(2) Statement II 1s the cause and statement I 1s 1ts effect
(3) Both the statements I and II are independent causes

(4) Both the statements I and II are effects of independent causes

(1 1
(2) 2
(3) 3
(4) 4

Freaferfiga woa 4, & gwes [ 3 11 fou mo &)

L Tl ST | =EaH Je TS-&Ehd N =9 79 a9 g 2
1. 99i-92 T smer & a8

Hr= feu o fasedi ® @ maifus 39w I w1 =99 Hifew

(1)  o%ed | %10 2 3R Shed 11 36! 9919 2

(2)  ahed 11 %R0 & 3R avhed [ 36! w94 2|

(3)  2Fi Iws, 1 3 11, =69 a0 2
(4) I Ivhed, 1 3R 11, =6a A0 & 99 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15833]
2[Option ID=15834]

3[Option ID=15835]
4[Option ID=15836]

Sl. No.85
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In the following question, two statements numbered I and II are given :

I Part of straight stick which is partially immersed in water appears to be bent.
I1. Pool of water appears to be less deep than it really is.
Choosze the most appropriate answer from the options given below :

(1) Statement [ is the cause and statement 11 is its effect
(2) Statement II is the cause and statement [ is its effect
(3) Both the statements I and I are independent effects
(4) Both the statements [ and II are effects of independent causes
(1) 1
(2) 2
(3) 3
(4) 4

fraferfiga wm 4, € awes 13 11 fou o &)

L foreft et = = aniforss =0 @ ol 6 gan g fewm q=1 B30 wfia & 2
IL ot 1 Fee ot areafaes meud & &0 e wdfia & 2

o feu mo fasedi 4 & waffus svgm s @ 937 Hifsw

(1) %=t [ S0 2 3 aweg 1 391 u9mE 2

(2) S [ %R 2 31 S 1 30! 99E 2

(3)  &F Fwea, 1 3 I, w=aa g9e 8

(4)  oFi Fwe, 1 31 1L U & A & 99E B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15837]
2[Option ID=15838]

3[Option ID=15839]
4[Option ID=15840]

Sl. No.86
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In the following question, two statements numbered I and II are given :

L Microfinance is important to small and individual business.

I1. Small and individual business do not have access to traditional financial resources

from major institutions.
Choose the most appropriate answer from the options given below :

(1) Statement [ is the cause and statement 11 is its effect
(2) Statement I1 is the cause and statement [ is its effect
(3) Both the statements [ and I are independent effects

(4) Both the statements [ and I1 are effects of independent cause
(1) 1
(2) 2
(3) 3
(4) 4

frafefiga wom 4, € awen 1 3 11 feu o &)

I B¢ 3R =i srEErEt # o ge-fam geet )

I e g8l 8 Iered o foaefa @amami @ o ot safwra s 6 g 78 8
= fou o fasmedi & & waifus swgw s = 999 Hifsw

(1) e [ S0 2 3 avhed 11 31 999 8

(2) g [ %A 2 3R as 1 30! 9974 2

(3) g Fwea, 1 3 I, a7 79 8

(4)  oF Fwa, 1 3R 1L U & %A & 99E 81

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15841]
2[Option ID=15842]

3[Option ID=15843]
4[Option ID=15844]

Sl. No.87
QBID:1164087




The question given below consists of a statement. followed by two conclusions numbered
I and II. You have to assume everyvthing in the statement to be true. then consider the two
conclusions together and decide which of them logically follows bevond a reasonable doubt
from the information given in the statement.

Statement : The Earth takes 24 hours to rotate through 360 degrees longitude.

Conclusions :

L Two places that are 15 degrees of longitude apart have a difference of one hour.

II. If a person was travelling 180 degrees longitude east to west. he would lose a dav.

Choose the most appropriate answer from the options given below :
(1) Only conclusion I follows
(2) Only conclusions II follows
(3) Both conclusions I and IT follow
(4) Neither I nor II follows
(1) 1
(2) 2

3) 3
(4) 4

fra g o wwa | v Twen @ 3 3o ang < Frewd, e I 81w B aven | oe we ot B T
et fremel w w oy fomm fifsw i Fofz i & swe 4 & w8 g & $87 @ Freed, et
sitfaert deg & T, s w2l

awed: 9l 24 92§ 360° I 1 gUE R 2

forerd -

. TS 9Eid15° o &1 3= & A+ 99 § U °¢ &1 =1 a1 21

I  afg = =fE 180° Zem-a @ & uffam amn w41 2 @ 38 s for 6 afa it
fra feu o fasedi @ @ maifus I9gw I = =99 Fifsw

(1)  hae Fsed 1 smom s 2

(2)  hae Frsed 11 smm == 2)

(3) i freed 1 afR 10 sam & 21

(4 T 13T & I ST w5 2
1) 1

(2) 2
3) 3




(4) 4

1[Option ID=15845]
2[Option ID=15846]
3[Option ID=15847]
4[Option ID=15848]

Sl. No.88
QBID:1164088

The question given below consists of a statement. followed by two conclusions numbered
I and II. You have to assume everything in the statement to be true. then consider the two
conclusions together and decide which of them logically follows bevond a reasonable doubt
from the information given in the statement.

Statement : When a person has a prolonged exposures to very cold temperature. he 1s unable
to think clearly or move well.
Conclusions :

L When a body begins to lose heat faster than 1t's produced. i1t leads to exhaustion of
body's stored energy.

II. Body temperature that 1s too low affects the brain.

Choose the most appropriate answer from the options given below :
(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Both conclusions I and 11 follows
(4) Neither I nor II follows
1) 1
(2) 2

3) 3
(4) 4




Hr=t fou o wwm § U aen @ 3 IEe 9 o e, 13 I B wife i awen o me g @ B T
gl fredt w s Ty fgem $ifs it fofa Sifse & awer @ @ 78 gua & w8 @ feed, 5
sitfamrl g2z & ®, g w2

CL= Fa iy =ahe afas 32 9a9HE % U9E 4 @ G99 9% @9 & d 98w o e

= TR TAEE B 8 & S 2l
foreame -
[ o4 i3 I Fo1 3099 BF i afa 8 diea ofa 3 e @ e 2 a9 398 sl i g=fE s
TUH B =T 2

1. =il = 3reg-a f e oferss 5t wanfas s 21
Hr feu o fosmedi ® | waifys s9gw s = 99 Sifsm

(1)  haer Frsmd 1 srqaa & 2|
(2)  haa Fsed 11 sam s 2
(3)  <Fl Fsed 1 s 11 a0 8
(4)  Fa I3 & I 3E S 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15849]
2[Option ID=15850]

3[Option ID=15851]
4[Option ID=15852]

Sl. No.89
QBID:1164089




In the guestion below is given a statement followed by two assumptions numbered I and IL
You have to consider the statement and the following assumptions and decide which of the
assumptions 1s implicit in the statement.

Statement : Parents are not legally responsible for children above the age of 18 years.

Assumptions :
L Parents become incapable of bearing such responsibility by the time children become
adults.

II. Children become mature and thus capable of making decisions and bearing their own
responsibility by the time they become adults.

Choose the most appropriate answer from the options given below :

(1) Only assumption I 1s implicit
(2) Only assumption IT 1s implicit
(3) Neither I nor II 1= implhicit

(4) Both I and IT are impheit

(1) 1
(2) 2
(3) 3
(4) 4

T e mum § oF s % W @ unomd @ wE § [ 3 11 e geey 3 9d gmomai W
foram =k favla e 2 f6 &9 o qumon 99 § st 21

e 18 =9 & fus 3y Tt w=1 & o stfires s dt w0 swerd 74 )
‘fq‘il'l'(ﬂrri:
[ o o= 995 8 91d & a1 3 et oF § sl sem & e )

[I. o9%h 8 & A99 % d= I1qed 2 91d 8 31 36 g 304t @ 6 e & 3 fols =@ o
T4q & I 2

Hr feu mu fashedi § & waffus s9gw s =1 997 Hifsw

(1)  hae qeumon 1§ safifea 21
(2)  had qEumon I8 =it 21
(3) T3 d I st 2
(4) g1 I 3 11 si=iifea 21

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15853]
2[Option ID=15854]




3[Option ID=15855]
4[Option ID=15856]

Sl. No.90
QBID:1164090

In the question below is given a statement followed by two assumptions numbered 1 and I1.
You have to consider the statement and the following assumptions and decide which of the

assumptions is implicit in the statement.

Statement : Driving under the influence of alcohol and/or narcotic substance is prohibited

in law.
Assumptions :
L Being under such influence impairs one's ability to use one’s common sense and think
long term.,

II. Being under such influence slows one's reaction time and makes it difficult for one's
brain to process information.

Choose the most appropriate answer from the options given below :
(1) Only assumption I is implicit

(2) Only assumption IT is implicit

(3) Neither [ nor 11 is implicit

(4) Both I and IT are implicit
(1) 1
(2) 2
(3) 3
(4) 4

g fou M wo § uR awen % ag o qd grwomd & w8 1 3 1L soeRt Seen st g gt
foem = Fofa e 2 6 win oft qeumon awres 9 smafifea 21

gmes: I 3R e 9giyl % uwE | 9Ed 9o A g ihatE 21

IR -

I @ wwE d aw 9fy # Iwm w3 s ddefess fama it safam & aman aftor & st 21

II. & wva 8 =afaq &1 wfefen @ma dm & o 2 s =fF & aferss g geand fywefia s
e & = 21

fr= feu mu faspedi & & maifbs 39w I = =99 Sifsm

(1)  hae qEuron 18 s=ftad 21
(2)  “haet gEumen 11 & sfife 21
(3)  Fd I3 I s=aitEa 21
(4)  =FA 1 3 11 F=tEa 2l

1) 1

(2) 2
3) 3




(4) 4

1[Option ID=15857]
2[Option ID=15858]
3[Option ID=15859]
4[Option ID=15860]

Sl. No.91
QBID:1164091

The question given below consists of a statement, followed by two conclusions numbered
I and II. You have to assume everything in the statement to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable doubt
from the information given in the statement.

Statement : Sand iz not very good at retaining heat.

Conclusions :

I Sandy deserts are very hot during the day when sand releases heat into the air, and is
reheated by the sun.

II. Sandy deserts are very cold at night when sand has released heat into the air and
cannot be reheated by the sun.

Choose the most appropriate answer from the options given below :

(1) Only conclusion 1 follows
(2) Only conclusion 1T follows
(3) Both conclusions I and 11 follows

(4) Neither [ nor II follows

(1) 1
(2) 2
3) 3
(4) 4

i fou o we d v awen 3t o arg gt Freed 1 aih 11 8 wife i aemes § ma 5o wd R e
gt fremet w0 v e faem fifse s fofr Sifse 6 awme 4 § w3 gon =0 w6 @ Freed, feedt
sitfaerl |88 8 W, FE F 2

ahed: S U T H [ 98d Tesl A8l e

freered

I f % o Wie fivam agq ™ 29 € 59 19 g0 | o0 Sied 2 o gl a0 T Ffem e d@
Eli ]

[I. et Miram 7F i 980 32 81 90 @ 99 @ g H TS Sredl @ 3 gd g o wfew @ f
ST Rl

= feu mu faspedi 7 o waifus I9gw I & =399 Fifiw

(1)  <haa Frsed T s s 2|
(2)  ae fremd 11 swEmn st 2
(3) o fased 1 3 11 se & 8
(4) A 3T I ATE w2 2

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=15861]
2[Option ID=15862]

3[Option ID=15863]
4[Option ID=15864]

Sl. No.92
QBID:1164092

In the question below is given a statement followed by two assumptions numbered I and II.
You have to consider the statement and the following assumptions and decide which of the
assumptions is implicit in the statement.

Statement : Schools admit children living within a certain radius.

Assumptions :
I The closer the homes of children are to their school, the easier it is for schools to collect
fees.

II. The closer the homes of children are to their school, the easier it is for schools to drop
children home in medical emergency.

Choose the most appropriate answer from the options given below :
(1) Only assumption I is implicit
(2) Only assumption 11 is implicit
(3) Neither [ nor II is implicit
(1) Both I and IT are implicit
(1) 1
(2) 2
3) 3
(4) 4

2 feu o uva ¥ v Sed & A § 0@ unond € mE 2 1 3 114 E 81 et geer 3 @ gronsi
7t foam =k Folg %50 2 6 i ot qdunon swwes § s=fifea 2

awer:  frarem us frae B & st w9t a3t v g B

QR

I &=l & ot 39 faame & fae e gt €, e 6t 3598 9os 9ue w0 sa @ e g
2l

II. == & = 39 faamem & foae fee 26 2, feme & oo fafeen arasht smom forfs 4 ==
% T T TR I € HEH B 2

a1 feu mu foshei /& waifys S9gw s =1 999 Hifsw

(1) e qduron & swafifea 21
(2)  had qEumon 118 s=iifEa 21
(3) AT [aad [tz 21
(4)  FM1 1 3 11 sr=fifea 2




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15865]
2[Option ID=15866]

3[Option ID=15867]
4[Option ID=15868]

SlI. No.93
QBID:1164093

Cardioclogist is to heart as Pulmonologist is to

(1) Kidney (2) Lung

(3) Bones (4) Pancreas

(1) 1
(2) 2
(3) 3
(4) 4

St Ty ged U e @ gem @ 9 vopa fasm & o A feed B0

() gl (2) s
(3)  =fgeat (4) 3=

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15869]
2[Option ID=15870]

3[Option ID=15871]
4[Option ID=15872]

Sl. No.94
QBID:1164094

Floriculture is to flowers as Sericulture is to

(1) Vegetables (2) Seeds
(3) Milk (4) Silk

(1) 1
(2) 2

(3) 3

(4) 4

S Ty U - Hf w2 ad gy ke ae e E R -
(1)  wfewEl (2) ==

=

(3 & (4) 9w




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15873]
2[Option ID=15874]

3[Option ID=15875]
4[Option ID=15876]

Sl. No.95
QBID:1164095

Fiction is to Literature as Alliteration is to

(1) Cinema (2) Dress

(3) Cuisine (4) Figure of speech

(1) 1
(2) 2
(3) 3
(4) 4

S FrE e 1 difecd d @ 98 g e e a e -
(1) =t (2) ==

=3

(3) A (4) FHeAHR

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15877]
2[Option ID=15878]

3[Option ID=15879]
4[Option ID=15880]

Sl. No.96
QBID:1164096




Which of the following forms a consistent group?

(A) Dance

(B) Opera

(C) Painting

(D) Play

(E) Instrumental Music

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only
(2} (A). (B). (C) and (E) only
(3) (A). (B). (D) and (E) only
(4) (A). (C). (D) and (E) only

(1) 1
(2) 2
(3) 3
(4) 4

frferfiga & & +17 v gugEy gyg w90 7

A T4

(B) 3

(C)  Tam=en
(D) s

(E) am-mfia

Hra fer mu faweat 4 @ = I w1 ==m Fifem:
(1) (A), (B), (C) 3 (D)
(2)  (A), (B), (C) 3 (E)
(3) (A, (B), (D) 3R (E)
(1) (A (0). D) 3R (E)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15881]
2[Option ID=15882]
3[Option ID=15883]
4[Option ID=15884]

Sl. No.97
QBID:1164097




Which of the following forms a consistent group?

(A) Anthracite
(B) Graphite

(C) Peat
(D) Flint
(E) Bituminous

Chosse the correct answer from the options given below :

(1) (A). (B). (C) and (E} only
(2) {A). (B). (D) and (E) only
(3) {A). (C). (D) and (E) only
(4) (B). (C). (D) and (E) only

(1) 1
(2) 2
3) 3
(4) 4
frefefiaa § @ #17 vs w9TET a9 &9 87
(A) TR
(B) e
© de
D) fFee
(B) fegh

fr= feu mu faereat § o ot 3 1 = Fifs:
(1)  (A), (B), (C) 3R (E)
(2 (A), (B), (D) 3t (E)
(3) (A, (0). (D) 3 (E)
(1) (B).(C). (D) 3 (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15885]
2[Option ID=15886]

3[Option ID=15887]
4[Option ID=15888]

Sl. No.98
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Which of the following forms a consistent group?

{(A) Hygrometer
(B) Barometer
(C) Thermometer

(D) Glucometer

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only
(2) (A). (B). (C) and (E) only
(3) (A). (B). (D) and (E) only
(4) (A). (C). (D) and (E) only

(1) 1
(2) 2

3) 3

4) 4

frfeifiga & & +9 v qugEy g8 w90 &7
(A)  EEEEH

(B) S

(C)  umidtex

(D)  feremdfie

(B) i

=1 feu mu fawedi | @ ot I w1 === it

(1) (A), (B), (C) 3 (D)
(2) (A (B), (C) 3R (E)
(3) (A, (B). (D) 3 (E)
(1) (A, (0), (D) 3R (E)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15889]
2[Option ID=15890]

3[Option ID=15891]
4[Option ID=15892]

Sl. No.99
QBID:1164099




If the following statements are True.

All poets are idealists ; some idealists are philosophers: and some poets are not philosophers.
Which of the following statements can be inferred as True?

(A) Some idealists are poets

(B) No philosophers are poets

() Some philosophers are idealists

(D) Some poets are not idealists

(E) All idealists are poets

Choose the correct answer from the option given below :
(1) (A), (B) and (C) only
(2) (B), (C) and (E) only
(3) (A) and (C) only
(4) (B) and (D) anly
(1) 1
(2) 2
(3) 3
4) 4
gfe Fafafas s g 2 -
ant iy snesiard 8, $9 snedardt gt &, i $o =i onife o & @ w6 8 Freafafee gwet
%] Geg |1 A Gl 27
(A)  FO INeHETE HfE E4 2
(B)  =hr§ grifae wfa 74 #)
() F9 e smeeErg £
(D) B Hid FEIEE T@ 2l
(B) @ sresard &4 2

fra feu mu fasedi § & gad 3vgE 3w w1 997 Fifu
(1) & (A), (B) 3 (C)
(2) %4 (B), (C) 31 (E)
(3)  Fae (A) 3 (0)
(4)  HEe (B) 3 (D)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15893]

2[Option ID=15894]

3[Option ID=15895]
4[Option ID=15896]
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If the following statements are True :

All snakes are reptiles; and some snakes are poisonous creatures; but some poisonous
creatures are not snakes.

Which of the following statements can be inferred as True?
(A) Some snakes are not reptiles

(B) Some reptiles are not poisonous creatures

(C) No poisonous creatures are snakes

(o Some reptiles are snakes

(E) All poisonous creatures are snakes

Choosze the correct answer from the options given helow :
(1) (A), (B) and (C) only

(2) (B), (C) and (E) only

(3) (A) and (C) only

(4) (B) and (D) only

(1) 1
(2) 2
(3) 3
(4) 4
gfe fr=fefias awres o= 2 -

ait |0 wigy #, st $o g fate woft 2 2, ofe oo fala ooft |fe 5 &6 @, fefafea & 4
fopm aremredl 1 Eo W S Gl 27

(A)  $B @l wlgy 7= w6

(B) o =iy fa¥a aoft =8 24

(C) w3 ot fadet woft oig =& 2

(D) o wlhgy g 7
(E) =t faie wmoft =i )

i feu mu foshedi ® & g8 IygE I @ =9 fif
()  %ad (A), (B) 3 (C)

(2)  Fae (B), (C) 3 (E)

(3) % (A) 3 (0)

(4) e« (B) (D)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15897]
2[Option ID=15898]

3[Option ID=15899]
4[Option ID=15900]







